Unit: The Sustainable Olympics

Worksheet 2 
Why we need to walk, cycle or travel to the Olympics by Public Transport.

The organisers of the London Olympics 2012 want to encourage spectators to fill every stadium for every event.

1. Look at the table.

It shows the Olympic Venues and the seating capacity.

Calculate how many car journeys and car parking spaces would be needed if each stadium was full and everyone travelled by car. 

	Stadium
	Seating Capacity
	Average of 4 persons per car
	Average of 3 persons per car
	Average of 2 persons per car
	Average of 1.6 persons per car

	Aquatics Pool Olympic Park


	5000
	
	
	
	

	Olympic Stadium Olympic Park
	80000
	
	
	
	

	Greenwich Dome


	16500
	
	
	
	

	Velodrome 

Olympic Park


	6000
	
	
	
	

	Cardiff Millennium Stadium 
	74600
	
	
	
	


2. List the problems that would be caused if lots of spectators went to each stadium by car.












































































